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ẍ(t) + x(t) = μ(1− x2(t)) ẋ(t), μ > 0 4�5
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dt2
z (t) + 2 i

d

dt
z (t) = z (t) + h− μ− (1− μ) (z (t) + h)

|z (t) + h|3 − μ (z(t)− h)

|z(t)− h|3 , 4	5
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z(t) = w(t)2 + h, 4
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μ = 0.000953880, P = 3.154687648517,
x1(0) = −1.617285336966, ẋ2(0) = 1.083230074442, ẋ1(0) = 0, x2(0) = 0,
x1(P ) = 0.498876827368, ẋ2(P ) = −1.681789734519, ẋ1(P ) = 0, x2(P ) = 0,
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 4ẋ2(P )5 �� &�%1�
 ���&��! � 3
�
2%#1&����� p�3 ���#%���3
7�� �
$� 2%�3$� ���%�� 
������&
 �����%��
���� 4�1�%� ���2/�5 � 2�%!(��� 3
��
�
��� o�� ���3
�� � ���, ��� ��(����



��

�����&�� 2%�3$� $ ���2������� z(t) = 1/2, $����
� � &
���� �%#�
� �
��
��%�1��
 � �2%
��� $���%�$����� �������� o��, � ���" �����&!, �3�
�
��,
��� ��& ;� %��
 ��(���� z(t) 2#&�� ����! �
%� �
&�#� ���&������ �2%�3�
���2�������, ��� �
$ �%� ��
�� �����%����� ��� %"2�� ���%����� ����&�
����������
���, �
$ $
$ ����&�$ �������� ����&
 ���
1
���� � ������
�
�� %�����$�� �
3%�1��� �

�%� �����%���� ����������� ��2��� &���
����� ���%�&��! �� �
 ��%#�
�����&�� ��$
1��, $
$ �2� �� 2%�3$� ���%�� 
������&
 $ g�%�7# � �����
/�" ����&
 �
 ���
���# ����������! ��(�����

� ��1�%���", $���%�$��
� 8���
 #�
������ 4	5 4���2��&��
� &%� ���#�
%���3
7�� ;�%��p
���5 �� #&��%�������� ������� ��(�� �&�
$� ��/�������
�
� 8���
 #�
����� , $����
� � ����%!3#���� �2���� &%� �
������, #&��
�%�������� ������� ��(�� ����� �%��
��, 8#�$7�� x1(t) � x2(t) ��%�"���

�
%������$���, ���� ����%!3��
��� $���%�$����� ������� &��#������

p%�1
 (
� ���$
 $ g�%�7# 4�
 ������
��� ���$�5, �
���%�1���
� �

��/�������� ��2���, ����� $���&��
��

t = tS = 1.314048036211,

x1(t) = −0.499954830474, ẋ1(t) = 51.068896966461,
x2(t) = −0.000745165719, ẋ2(t) = 8.160708917135.
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x1(t) ẋ1(t) x2(t) ẋ2(t)
−0.65488 1.06300 0.32453 −1.64053
−0.55849 + i 0.10104 0.81674− i 0.10782 0.20711− i 0.25124 −1.67358− i 1.32606
−0.49424 + i 0.07641 −0.08687 + i 0.22465 −0.15562− i 0.28593 −1.12524− i 0.28593
−0.39069 + i 0.06428 −0.81780 + i 0.75559 −0.37110 + i 0.05707 −0.13048− i 2.65667
−0.41103− i 0.10293 −0.62617 + i 1.07788 −0.16265 + i 0.34614 0.79480− i 2.01576
−0.54652− i 0.05530 −0.18257 + i 0.76697 0.15819 + i 0.30344 1.75589− i 1.32986
−0.52589 −0.01461 0.30061 2.20192
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��� 3
&
�� N ��% ����
� � hik, �&�
$� ��

�������� ��%!$� � ��/��������� �%#�
�, $
$ � ��&�8�7����
��� 
%���
����, ���&�
3�
����� &%� �=;;� o�� ���3
�� � ���, ��� ������
 ��� 4	5
�� ��%����� 
%��2�
����$� �

����
��� �� ���&���� 
%������ ��3��&���� ��&
 � ������! �����������
� 0��� 3
&
�
� &%� �%#�
� s = −3/2, ����

xs = exp(s log x) = exp (s (log |x|+ i arg x)) .

��� 0��� 8#�$7�� arg(x) ����&�%��
 ��� −π < x ≤ π� ��0���# ��� ���%��
1��
��� ��(���� �
 ��� ���
���� ����������� 2#&�� �������&��! �$
��$
$
1&� �
3, $��&
 ���$
 ������$
�� ��! (−∞, 0)� e��2� 0���� �32�1
�!, ���
�����%���� $�088�7����
 Y (0) = Xs(0) ���2��&��� ����%!3��
�! 8#�$7�"
Arg(x), $����
� �� ��%����� ��
�&
���� 4� 3
����� �� ���� ���&�������5�



��

� #� $�
������ �
� ��� %	�&

���������� ';) $ #�
�����" �
� &�� ��%� 4�5 &
�� �/� �&�� ������
y���#%���3
7��z 43
 ��������� %#�(��� ������
5 ���2������� ��� �
 ���
R �#��� ����&
 �
 ���
���# ����������! ��(�����

�
$ �3������, �� ���� #��%������ μ �����& ��%
$�
7������ $�%�2
�� ,
$������ #��
�
�%��
"��� ��� t → ∞, #��%����
���� �����
�������, 
 �
�
�
 y��%
$�
7��z, ���� ���� ��(���� $ �����
%!���# �%� �
$���
%!���#
3�
����", �������&�� ��� 2�%�� ��3$�� �2�
3��� ����� �%��
��, ��
&����
max |ẋ(t)| �����
����� ��� μ → ∞�

w���, ��� ẋ(t) $
$ 
�
%������$
� 8#�$7�� t ����� ���2������� &���
����
�� 2%�3$� $ ��� R, ������ ��� 2%�1�, ��� 2�%!(� �
�
���� μ�

��3!��� �
�
%!��� &
���� μ = 16, x(0) = 2, ẋ(0) = 0 � �����������#�
�� #�
������ 4�5 �� ��/���������# ������� &���
����� &
%�$� 4$ ������#,
t > 1005 �
$, ��� ���&�%!�� 7�$% ��1�� ����
�! #��
�����(����� {�
8�$
��(���� ����� ��&

��	
 �
 -	�
�����.��	� �������/�	��� ��.���� ,�
������ �!� ��� μ = 16


w���, ��� ���%����� ����������
��� &
��� 3
&
�� 2#&�� ���&��
�%��!
��� 2�%!(�� ��#&����� �� ���� #��%������ μ�

�
��
� ��&�%!�
� 3
&
�
 ������
�
%!�� ����%!3��
%
�! �
�� $
$ ����
��� ���������� ';) &%� �2��&
 �%�1���� #�
��$
 ��(���� �� $���%�$��
���# �#��, �&� ��
&���� |ẋ(t)| #1� �� ��%����� �����
�������� ��� %"2��
�
�
����� μ� o�
 �����$
, �
3#������, �
2��
�� � � &
���� �%#�
��

�&�
$� 
$7��� �
(�� ���%�&��
�� �3����%��, � �����! �� �
��������
3
&
�# %�$
%�3
7�� ��&��1��� ���2������� ��� 4#�
������ 4�55< � $
$
��� 4���2�������5 �%��"� �
 ���#$�#�# ���
���� ����������� ��(�����



��

�
$ �3������, #�
������ �
� &�� ��%� �� ��������#��� 4���� �
� �� #&
�
%��! �
 �� ���%$# �
 &�$
3
��%!���� 0���� 8
$�
5� ��������#�����! ���
��&�
3#���
�� � ��$������ ���#������� ����%� ��������%!�#" �������#
���
����� ����������� ��� ��(��� �

+
������, ����! �%�1�
� ���#$�#�
 ���
���� ����������� ��(���� ���
#$
3��
�� � 2�%!(� ����������!" �
 ����������#�����! #�
�������

�
$ �$
3
%��!, ���#$�#�
 ���
����� ����������� ��(��� #�
������
�
� &�� ��%� ��%����� 8�
$�
%!�� �%�1�� � '� ���&���������#�� 0���
0$���������
%!�� 8
$� �
 ������� ��(���� �
 ���� 
�

)
�������� ��
�
%�, $
$�� ���2������� ��1�� ����! ��(���� #�
������
4�5�

��&��
��� ���2�#" 8#�$7�" x(t) = tr � $
1&� ����� #�
������ 4�5 �
�3����� ������! s ��%#���(���� �������� ��%#���

s ∈ [r − 2, r, 3 r − 1, r − 1].

��%
�
�, ��� r : 0�� �����
%!�
� ������! � �
3%�1���� ��(���� x(t) �
�������� ��&, ��%#�
��, ��� �&��������
� ��3��1����! �������� ��&�2���
�%���, 0�� r − 2 = 3 r − 1, ���� r = −1/2�

=
&
�
 �����%���� ���������� �
3%�1���� ��(���� ��� ��%����� �� �#�
�� 
%��2�
����$� , 
 &
��� ��(� �����2 �
 �� ����� �%�� �
3%�1����

�
%������ ����&# &�
��
�� +!"���
� ��� ���%�&#"/�� �%��� �
3%�1��
�� , $
$ � �� $�088�7�����, �
��&���� ����&�� ������&�%����� $�088��
7������� � ��3#%!�
�� ��%#�
��

±x(t) =
1

2

√
6√
μ t

+
1

4

√
6μ t+ A t+

1

48

√
6 (μ2 − 16) t3/2√

μ
− 1

7
Aμ t2−

4i5
1

96

√
6μ

(
12A2 + μ2

)
t5/2 − 1

21
A

(
2μ2 − 7

)
t3 + . . . ,

�&� A ∈ C : 0�� ����3��%!��
� $����
��
�
+
 �
��� &�%�, �
3%�1���� 4i5 ���&��
�%��� ��2� &�
 �
3%����� ���� �

���
 �
3%�1��� , ����������#"/�� &�#� ������ 8#�$7��
√
t�

)
3%�1���� 4i5 ���&���� � ��$����� �$��������� �#%�, ���� &�$
3
�!
&
��� 8
$� �� ������� �&�
$� �� 2#&�� ���%���� %�$
%�3����
�! ���2��
���$�, ��0���# ���&�����! 2#&�� #��
���%��
 0$���������
%!���

������� �
$1�, ��� t ��%����� %�$
%!��� ��������, �
$ $
$ #�
������
4�5 
��������� ����� �%��
��, %�$
%�3��
� ���2������! ��(���� t = t0 ∈ C,
��%#��� %�$
%!�#" �
�
�����3
7�" ��(���� � �$��������� t0, ��&��
���
t → t− t0 � �&�� �3 �
3%�1��� 4i5�



��

���(�� 
%������, ��3��%��(� �
� %�$
%�3��
�! 
%��2�
����$�� ��%"�
�
 #�
������ 4�5 4&
%�� ������9 ������5 � 2�%!(� �������!" 42�%�� �- &��
�������� �
3��&��5�

+
������, ��� μ = 16 8�$�����
�� � &
���� �
����
��
��2���� ���$#, 2%�1
 (#" $ %�$
%!���# �����#�# ��(���� �
 ���� 
,

� �������� �� � �
�
%� ������
 t0 = 0

P0 = {x(0) = −2.0096031185320952154535856749935,

ẋ(0) = −0.0076566170015969985933383406195}. 4m5

=
&
&�� �����
 ��2�%!(�� 3�
����� �
&�#�
 R �2��&
 ���$� P0� =
���
��������#�� �� ��/���������# ������� &� ���$� P1 = {t = R, x(R), ẋ(R)}�
=
��� ��������#�� �� $���%�$����# ������� t = R exp(i s), s ∈ [0, 2 k π],
�&� k : ���%� �2������ ��$�#� ���$� P0�

w���, ��� ��� &���
����� �
%�� R �����2#���� � �2����, ���� k = 1, ���2�
����! ���
��! � ���$# P1, ��� �%�&#�� �3 ������� ��(�� ����� �%��
��,
��(���� �
 ���� 
 ��%����8�� � ��$����� ��%��� �&�%! ��� R�

w��� �
$1�, ��� ��%����8����! ����
&��, $
$ ��%!$� ��#��! $�#�
 �2��&

���
&�� ���! �&�
 ���2
� ���$
 4i5� �&�
$� &%� ��2�
����� �#�� �2��&

��%"�
 4i5 2#&#� ���
&
�! ��#��! $�#�
 �2��&
 ��%!$� �
�
�� �� ����7��#
��������� x�
�7
�

;
$�� �2�
3��, ��� ������ ���
&
��� &�#� ��%"��� ��#��! $�#�
 �2��&

�����& 8#�$7�� x(s), 3
&
��� �
 ��2�
��� �$�#1�����, �$
�$�� �3���
����� � k = 1 &� k = 3� o�� ���3
�� � ���, ��� ��(���� x(t) � $���%�$����
�������� t ����� ����%���� $�
������ &�
 � �$��������� ���2������� 4i5�
��0���# $
1&� �3 ��%"���, ���
�(�� ��#��! $�#�
 �2��&
, &�2
�%��� ��
�&���# %���# $ �� �2/� ���
���� ������������

��	
 �
 0�
 �1�������/�	��+ ��.���� ��� R = 0.1 � R = 0.155




��

��	
 �
 0�
 �1�������/�	��+ ��.���� ��� R = 0.16 � R = 0.2


��	
 �
 �1 � �1�������/�	��� ��.���� ��� R = 0.24 � R = 0.26


o�
 3
$����������! ����
������, $
$ �� #��&��, ��� ���
&
��� �����
���2�� ����$ ��#��! $�#�
 �2��&
�

p#&�� �
3��
�! �
$�� ��(���� k��	
�����	����� � 3
��������� �� ���%

k �2������, ���2��&����, ���2� ����#�!�� � ���$# P1�

+
 ���� � ��$
3
�� ��
8�$� ��/�������� �
��� ��(��� Re x(s) ���
R = 0.1 � R = 0.155, $��&
 ��(���� ��%�"��� �������&����$���� '�1��
�
2%"&
�!, ��� &�
 %�$
%!��� �����#�
 ��(���� ��
������� �����
������
���� ��� #��%������ R� w���, ��� 0�� &�� ���2������� �
 ��(���� ��3�
��
��%"�
�� 4i5, $������ ��$
 �� ���
%� ��#��! $�#�
 �2��&
�

��%
�
�, ��� �$�#1����! ��� R = 0.155 ��&��&�� #1� &���
����� 2%�3$�
$ ���2�������� 4i5, ��2���� �
 ��(���� ��$����#" ���$# t = t1, Re t1 > 0 �
�
�2�%!(��� �� ��&#%" 3�
������� �
�
%!��� &
���� x(t1), ẋ(t1)�



��

=�
����� t = t1 ��%����� ������ ���2%�1����� $ ��%"�# t = t∗1�
;����! �����%�� �
�
%!��� &
���� x(t1), ẋ(t1) �� �
3%�1���" 4i5�
��&��
��� t → t − t∗1 � �&�# �3 8���#% 4i5� �
$ �$
3
%��!, � &
����

�%#�
� �#1�� 3�
$ ���#� � XSM4i5� ;
$�� �2�
3��, ��%#�
�� ������# &�#�
$���%�$��� #�
����� ��������%!�� &�#� $���%�$��� ���3������� t = t∗1 �
$����
��� A, ���&�/� � 4i5� ������ #�
������ ��%#�
���� &�88����7����
�
���� 4i5�

=
�����, ��� ���&# 4$
$ �$
3
%��!5 �
%��� �
&�#�
 ���&������ ��&�� 4i5
�
� �����2��
%��! �$�%� 
- �%���� �
3%�1�����

��%#����
� ������
 ��(
���� ����&�� +!"���
, ���� ��$
$� �
�
����
���&������ $ ��(���" � &
���� �%#�
� ���, �
$ $
$ �
�
%!��� ���2%�1����
&%� $����
��� A ���3������� ;�� �� �����, �
� #&
%��! ��(��! 0�# ������
�#, $
$ � ��� ���%�&#"/�� 4��� �
2%� �, 	5� +
 &����� 3
$����������� �
�
����&�%���� ���2�� ����$ ���!�
 �2%����%� 0�# 3
&
�#�

*
���%
 !
 2��3	
 ��.���� �
 ��	
 � � ���+��� ���,���	��	��


m t∗m
1 −0.143635096586858774576+ i 0.064101173248089007412
2 −0.144524946094801725948+ i 0.192293492052137572817
3 −0.146303872904806513723+ i 0.320455748871354480046
4 −0.148970335584450943889+ i 0.448567972558227459393
5 −0.152522029406850820546+ i 0.576610296777213311347
6 −0.152522029406850820546+ i 0.576610296777213311347
7 −0.162268130914189986860+ i 0.832406550808482140203
8 −0.168454206168543420101+ i 0.960121636598907336894
9 −0.175508879046594844814+ i 1.087689211586842545839

*
���%
 �
 4��	�
��) Am ���3	�� ��.���� �
 ��	
 � � ���+��� ���,���	��	��


m Am

1 4.595717511093524351499− i 0.051665157429471040414
2 4.596163848580922561123− i 0.154990800529872752765
3 4.597056175462809521155− i 0.258302437677033262102
4 4.598393796852653348217− i 0.361590762587487369923
5 4.600175673657477809793− i 0.464846515310824276113
6 4.602400426430320360832− i 0.568060500375348543911
7 4.605066340454501277531− i 0.671223604551770801884
8 4.608171372015902031908− i 0.774326814133654155209
9 4.611713155809797417399− i 0.877361231639020907791

�%� ���� ���2� #&���������!��, ��� ��%"� t = t∗m, m = 1, 2, . . ., �
 &��
��
��%!��, �����%�� �
�
%!��� 3�
����� ��(���� �� ��� �
3%�1���" 4i5
� ��$����� &���
����� 2%�3$� ���#%���� ���$�� =
��� ��������#�� &�



��

���$� 4m5 � ��
����
�� ��%#������ 3�
������ +
(� �����%���� &
�
%� ����
�
&���� 3�
���� � 
2��%"��� �����(����!" ����� 10−25 ��� �
����
� �
KK�
��8����$�, ���� � 	� &���������� �
3��&
���

����
��� ��(� 
%������ �����%���� ���2�� ����$, ����������#"/��
��(���" 4m5, �
2��
��, �&�
$�, ��%!$� &� ��%"�
 � ������� m = 4�

��%� � ���, ���, $
$ #�����
%��! �
���, ��� ���
&
��� �����&�� �
�
�� ��%"��� ��#��! $�#�
 �2��&
 �����& �2��&
 ���$� P0 #��%����
���� �

� �&���7�� ����� �%��
��, m = 1, 2, . . . ���������#�� 2πk������&����$��
��(�����, �&� k = 3, 5, 7, 9, . . ., ���� k = 2m+ 1�

+
 ���� m, . ��$
3
�� ��
8�$� ��, i� � .������&����$�� ��(��� Re x(s)
��� R = 0.35 � R = 0.37< � ��� R = 0.47 � R = 0.48�

��	
 �
 �1 � �1�������/�	��� ��.���� ��� R = 0.35 � R = 0.37


��	
 �
 �1 � �1�������/�	��� ��.���� ��� R = 0.47 � R = 0.48




��

��	
 � 
 �1�������/�	��� � +
���/�	��� ��.���� ��� R = 0.53 � R = 0.54


��	
 ��
 5�
6�� Re x(s) ��.����� �
 ��	
 � ��� R = 1


+
 ���� �- �� ��&��, ��� ���%� .������&����$��� ��(����, �� $
$� ���
������� ��%#�
���� �
������$�� ��(���� 4&
%�� �� #������ 0��� ������5�
;
$�� �2�
3��, &���
��! �� �$�#1������ $
$ ����
�� ��(�, �� ��$��&
 ��
%�$
%�3#�� ��%"�
 � �����
�� m > 4�

������
 ����%���� �
������$��� ��(���� ���3
�
 � ���
&
���� �/� �&�
���� ��%"�
 4i5 ��#��! $�#�
 �2��&
� +� �
 0��� �
3 ��%"� ����
&%�1��
&�#���# ���� ���# � �� ���
&
�� � �
2%� �, 	�

+
������, ��� ��%"�
 � �
2%� �, 	 ����������#"� ���� ���# �� 3�
$��
���#� � XSM4i5� �
$ �$
3
%��!, �
 ���
���� ����������� ��(���� ���"���
�
$1� ��%"�
, ����������#"/�� ���� ���# �� 3�
$�� �%"� � XSM4i5� �&�� �3



! 

�
$�� ��%"��� ���
&
�� ��#��! $�#�
 �2��&
 ��� R > 0.54

t∗ = 0.534289605458396884193+ i 0.031299142576563586648,
A = −4.880881662382845745931− i 0.011455835832935449935.

4.5

�3 ���� �- ��&��, ��� �����2��
%��! ���$�%!$� �2������, ���2� ��&� ��
&���
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a = 0.000223168743699, τ = −0.000444924753971.
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Ãn = an (n− 1) + Re(A1) + i (2n− 1) Im(A1),
t̃n = τ n (n− 1) + Re(t1) + i (2n− 1) Im(t1).

��� 0���

max |Ãn − An| < 0.00095, max |t̃n − tn| < 0.00204, n ≤ 9.
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